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= = T HVE 7 e HVE T = = T HVE = e HVE =S| =
] 100kN/mi#%#8%5%| 1.00] 0.00 ~ 0.21 103.56 [3mZ#BZ 5 -~ - - —| 100kN/ %% | 1.00 |13.47 ~ 14.49 103.56 [3mZ#BZ 5 -~ — — —
ZhLst 100 | 021 ~ 6.90 100.00 | Zhlust | 000 ~ 6.90 | 2.12 9.32 ZhLlst 100 | 500 ~ 1347 100.00 | ZHlust | 500 ~ 1449 | 2.12 9.32
) 100kN/mi#%#8%%| 1.00] 0.00 ~ 0.09 10157 [3mZ#BZ 5 -~ - - — | 100kN/mi%#8x%| 1.00 |[1410 ~ 1459 10157 [3mZ#BZ 5 -~ — — —
ZhLst 100| 009 ~ 6.78 100.00 | Zhlust | 000 ~ 6.78 | 2.08 9.14 ZhLst 100 | 500 ~ 14.10 100.00 | Zh a5t | 500 ~ 1459 | 2.08 9.14
3 100kN/mM%Z#B % % — -~ — —|3mEEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
ZhLst 1.00| 000 ~ 6.59 9846 | ThLls | 000 ~ 659 | 2.17 953 ZhLst 100 | 500 ~ 16.02 9846 | Thuls [ 500 ~ 16.02 | 2.17 953
4 100kN/mi#%#8%%| 1.00] 0.00 ~ 0.30 105.07 [3mZ#BZ 5 -~ - - — | 100kN/ % x| 1.00 |[1499 ~ 16.96 105.07 [3mZ#BZ 5 -~ — — —
ZhLst 100 030 ~ 6.99 100.00 | ZHlust | 000 ~ 6.99 | 2.22 9.75 ZhLst 100 | 500 ~ 14.99 100.00 | Zh a5t | 500 ~ 16.96 | 2.22 9.75
5 100kN/mi#%#8%5%| 1.00] 0.00 ~ 0.35 105.79 |3mZ#BZ 5 -~ - - —| 100kN/ % x| 1.00 |14.95 ~ 17.22 105.79 |3mZ#BZ 5 -~ — — —
ZhLlst 100 035 ~ 703 100.00 | ZHlust | 000 ~ 7.03 | 2.22 9.75 ZhLlst 100 | 500 ~ 1495 100.00 | Zhlust | 500 ~ 17.22 | 2.22 9.75
6 100kN/mi#%#8%%| 1.00] 0.00 ~ 0.14 102.40 [3mZ#BZ 5 -~ - - —| 100kN/mi%#8%%| 1.00 |16.43 ~ 1755 102.40 [3mZ#BZ 5 -~ — — —
ZhLlst 100 0.14 ~ 6.83 100.00 | Zh a5t | 000 ~ 6.83 | 2.17 955 ZhLst 100 | 500 ~ 16.43 100.00 | #hlust | 500 ~ 1755 2.17 955
. 100kN/mi#%#8%%| 1.00] 0.00 ~ 0.16 102.73 |3mZ#BZ 5 -~ - - —| 100kN/mMi%#8x%| 1.00 |14.27 ~ 15.16 102.73 |3mZ#BZ 5 -~ — — —
ZhLlst 100 0.16 ~ 6.85 100.00 | ZHlust | 000 ~ 6.85| 2.25 9.89 ZhLst 100 | 500 ~ 1427 100.00 | Zhlust | 500 ~ 1516 | 2.25 9.89
8 100kN/mM#Z#B % % — -~ — —|3mEEZD -~ - - —| 100kN/M%#B 2% - -~ - —|3m%EB23 -~ — — —
ZhLlst 1.00| 000 ~ 6.47 96.50 | Th L5t | 000 ~ 647 | 2.07 9.12 ZhLlst 100 | 500 ~ 13.16 96.50 | hLlst [ 500 ~ 13.16 | 2.07 9.12
9 100kN/mM%Z#B % % — -~ — —|3mEEZD -~ - - —| 100kN/Mi%#B %% - -~ - —|3m%EBZ3 -~ — — —
ZhLst 1.00| 000 ~ 355 5239 | hils | 000 ~ 000 1.71 7.54 ZhLlst 100 | 500 ~ 5.00 5239 | Thlst | 5.00 ~ 500 1.71 7.54
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZhLst ~ Zh s ~ ZhLst ~ Zh s ~
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZhLst ~ Zh s ~ ZhLst ~ Zh s ~
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZhLst ~ Zh s ~ ZhLst ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZhLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZhLst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZhLst ~ Zh s ~ ZhLLst ~ Zh s ~
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